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#include <stdio.h>

main(){
double x;
double a=0.000000000000000222044604925031; /* 1.0+a # 1.0 D0OODOOOOOOOO %/

printf("%.30f\n",a); /* 0.000000000000000222044604925031 0O O OO0 =*/
x=1.0+a;
printf ("%.30f\n",x); /* 1.000000000000000222044604925031 OO O OO0 =/
x=2.0+a;

printf("%.30f\n",x); /* 2.000000000000000000000000000000 OO OO OOOOODO =/
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#include <stdio.h>

double sum(int n){
int 1i;

double s;

s=0.0;
for(i=1 ; i<=n ; i++)
s=s+1/double(i*i);

return s;

int main(){

int n;

for(n=1 ; n<=10 ; n++)

printf("n=Yd OODOOO %.18f\n",n,sum(n));

return O;
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n=1 00000 1.000000000000000000
n=2 00000 1.250000000000000000
n=3 00000 1.361111111111111160
n=4 00000 1.423611111111111160
n=b 00000 1.463611111111111196
n=6 DO00O0OO0 1.491388888888888875
n=7 00000 1.511797052154195020
n=8 0UOUOOO 1.527422052154195020
n=9 00O0O0O0O 1.539767731166540754
\\n=10 ob000 1.549767731166540763 )
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#include <stdio.h>

#include <math.h>

double numinteg(double a, double b, int n){ /* sin(x) OO0OOOO0O %/

int 1i;

double integ; / 0000000000 %/

double dx; /* [a,b] O n O0O0DO0DOOOOOOCOOOO =%/
integ=0.0;

dx=(b-a) /n;

for(i=0;i<n;i++)
integ=integ+sin(a+dx*i)*dx; /* OD0O0OOOOOOOOOOOOOOOO,
sin(atdx*i)*xdx DO O OO0OO0OO0OO0OOOOO =/

return integ;

main(){

int n;

for(n=1;n<=10;n++)

printf("000=%d ODO0O0O0O0O00O=%.16f\n",n,numinteg(0.0,3.141592,n));

}
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#include <stdio.h>

double dif(double x, double y){/* |x-y|lOOOOOOO %/



if (x>y)

return x-y; /* 000000000 OOOOO =%/
else

return y-x; /x 0000000000000 =/

}
main(){
double a,b;
a=2.0; /* 00000 2.0000 =*/
b=(a*a+2)/(2*a); /* 0000 b OO0 aOO0O0O0O0OOOO =/
while(dif(a,b)>0.00001){ /* D0 O0O000D0O0D0OOOO0O %/
a=b; /* 00000 a O00O0OODOOODOOOOOOx*/
b=(axa+2)/(2*a); /* b 000000000 */
}
printf ("%f\n",b);
}
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